E$H 2022488 1H

BARSKRASH FEAHEHR )
E 3% e Y A0 32 it B O HE F5 B 3 (< B 4 % EE6R(2022 £F [
(T iER)
AEME® P
|
1
BE7S — * - BIEMEO
FNE — MBEAF RA5— 2015481 I N AEREE® ---¢
Z0i — JEAUMRER{T 1
1
i el
1 | ] : Ze
A R > TELRERE
O arumo BB SR g% !
1 1
1
[ R— Ja l l IbF :
BE MR 4R Re5— [FLCA [FWCA AELEO
B R
PRZ 5%
[ B G R - B ISERNIE D AL S04k 3 )
& B MBI B mEENE
BEENE(t) BRAREW |[BBAREE(C) EHNE () 1% 2 B2 (] mmA e o)
B X * BIERMIEG e & BIEHLEC)
5 ol = ArmE | = | 3| & BEHE
F 2B mo| R
7 1@ *—1 *—1
4 — — 100] 584] 684 121 816
2 [ W mREIR201550 A 1 E B | e = =
6H 117] 725] 841 234 814
78 136] 823] 959 183 814
8H
= | 98
20224 [ of
118
12A
18
28
3H
1 EERIMEDTHE  +4 RIBUNBRBEEIEOE, BIRNEE0t)
[HEDIKRR]
—— - T EE TR T
5 B Em%jﬁ%ikﬁu #iHJX . %ﬁ( iﬁ’*g A RBE HRRAE®R)
HEH AR E (°C) | comrs (opm) AI .
— — - " ___|SOXx| HCL | NOx [EL\CAs JKER
AEREO [pELBEE EENAS m gz $EEY
37 44 'E 37 44 'E [==] = 3: = 3:
ﬁs ﬁ:f—t;]ﬂ_ H:f—t;]ﬂ_ %ﬁﬁﬁ : E;(_rg) () AH (Ppm) (mg/m°N) (ppm) (mg/m°N) (pg/m)
48 161 417878 2m/R 69 [ 4/27] 100
58 156 2|228/R| 2m/H 75
6 A 154 2228781 2m/R 98 [ 6/29] 100
78 155 2[238/A] 2m/B 95
8H B/A 2m/H
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18 B/8 2m/H
2H B/A 2m/H
3A B/8 2m/H
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